Potencias de 10 (J)

Calcule los siguientes productos y cocientes.

8,559 x 1000

5,261 x 1000

5,928 x 1000

7,372 + 1000

6,086+ 1000

7,668 = 1000

5,038 =+ 1000

4,807 x 1000

9,106+ 1000

5,067 x 1000

3,539 1000

9,611 =+ 1000

7,33 x 1000

8,032 x 1000

0,632 x 1000

1,814 x 1000

3,518 x 1000

9,953 +-1000

8,844 1000

9,023 =+ 1000

MatesLibres.Com




Potencias de 10 (J) Respuestas

Calcule los siguientes productos y cocientes.

8,559 x 1000
8.559

5,261 x 1000
5.261

5,928 x 1000
5.928
7,372+ 1000
0,007372
6,086 = 1000
0,006086
7,668 = 1000
0,007668
5,038 - 1000
0,005038

4,807 x 1000
4.807
9,106 -+ 1000
0,009106

5,067 x 1000
5.067

3,539 =+ 1000
0,003539
9,611 =+ 1000
0,009611

7,33 x 1000
7.330

8,032 x 1000
8.032

0,632 x 1000
632

1,814 x 1000
1.814

3,518 x 1000
3.518
9,953 =+ 1000
0,009953
8,844 = 1000
0,008844
9,023 =+ 1000
0,009023
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